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1. In which year the Payment of Gratuity Act enacted? 

(A) 1962   (B) 1972  

(C) 1982   (D) 1952  

£oUöPõøh \mh® G¢u Bsk C¯ØÓ¨£mhx? 

(A) 1962   (B) 1972  

(C) 1982   (D) 1952 

2. Which one of the following is not covered under industrial dispute as per Industrial Dispute 
Act? 

(A) Trade   (B) Business  

(C) Agricultural operation (D) Manufacture  

öuõÈØuPμõÖ \mh¨£i RÌPshÁØÔÀ öuõÈØuPμõÖ Áøμ¯øÓUSÒ Áμõx? 

(A) ÁºzuP®   (B) Â¯õ£õμ®  

(C) ÷ÁÍõsø©   (D) EØ£zv 

3. What is the capacity of the test measure to be kept by the dealer of the petrol and diesel? 

(A) 5 Litre   (B) 20 Litre  

(C) 1 Litre   (D) 100 Ml  

ö£m÷μõÀ ©ØÖ® j\À •PÁºPÒ øÁzv¸UP ÷Ási¯ ÷\õuøÚ AÍøÁ°ß AÍÄ GßÚ? 

(A) 5 ¼mhº   (B) 20 ¼mhº  

(C) 1 ¼mhº   (D) 100 ª¼ 

4. Legal Metrology Act 2009 – applicable to which part of the country? 

(A) Whole of Tamil Nadu  (B) Whole of India  

(C) Whole of World   (D) Whole of Andhra State  

2009&® Bsk \mh•øÓ Gøh¯ÍÄPÒ A•À \mh® |õmiß G¢u £SvUS ö£õ¸¢x®? 

(A) uªÌ|õk •ÊÁx®  (B) C¢v¯õ •ÊÁx®  

(C) E»P® •ÊÁx®   (D) B¢vμ ©õ{»® •ÊÁx® 
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5. In which year the Tamil Nadu Manual Workers (Regulation of Employment and Conditions 
of Work) Act enacted? 

(A) 1972   (B) 1982  

(C) 1992   (D) 1993  

uªÌ|õk Eh¾øÇ¨¦z öuõÈ»õÍºPÒ (£o •øÓ¨£kzuÀ ©ØÖ® ÷Áø» {£¢uøÚPÒ) \mh® 

G¢u Bsk {øÓ÷ÁØÓ¨£mhx? 

(A) 1972   (B) 1982  

(C) 1992   (D) 1993  

6. Which one of these relatives of deceased is not come under the definition of dependent as per 
Employees Compensation Act? 

(A) Widow   (B) Married daughter  

(C) Minor brother   (D) Unmarried sister  

£o¯õÍº CÇ¨¥mka \mhzvß £i CÓ¢uÁ›ß \õº¢÷uõºPÒ GßÓ Áøμ¯øÓUSÒ ÁμõuÁº 

(A) ÂuøÁ   (B) v¸©n©õÚ ©PÒ  

(C) ø©Úº \÷Põuμº   (D) v¸©n©õPõu \÷Põu›  

7. In which year, the wage ceiling amended and raised up to Rs. 8,000 under EC Act? 

(A) 2010   (B) 2009  

(C) 2011   (D) 2015  

£o¯õÍº CÇ¨¥mka \mhzvß RÌ CÇ¨¥k PnUQkÁuØS öuõÈ»õÎ°ß ©õua \®£Í® 

¹. 8,000&©õP AvP›UP¨£mk \mh® v¸zu® HØ£mh Á¸h® 

(A) 2010   (B) 2009  

(C) 2011   (D) 2015  

8. Under Employees Compensation Act, Memo of Agreement may be recorded by the Authority 
in which situation? 

(A) Fatal accident   (B) Major injury  

(C) Non Fatal accident  (D) Simple injury  

£o¯õÍº CÇ¨¥mka \mhzvß RÌ ‘‘J¨£¢u SÔ¨¦’’ G¢u `Ì{ø»°À £o¯õÍº CÇ¨¥mk 

Bøn¯º •ß¦ £v¯¨£k®? 

(A) ©μn Â£zx   (B) ö£›¯ Põ¯ Â£zx  

(C) Põ¯ Â£zx   (D) \õuõμn Põ¯ Â£zx  
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9. Employees Compensation Act enacted in the year 

(A) 1924   (B) 1925  

(C) 1923   (D) 1915  

£o¯õÍº CÇ¨¥mka \mh® G¢u Bsk C¯ØÓ¨£mhx? 

(A) 1924   (B) 1925  

(C) 1923   (D) 1915  

10. Percentage of loss of earning capacity for permanent total disablement denoted in which 
Schedule of Employees Compensation Act 

(A) Schedule-I   (B) Schedule-III  

(C) Schedule-II   (D) Schedule-IV  

{μ¢uμ C¯»õø©UPõÚ Á¸Áõ´ Dmk® vÓß CÇ¨¦ \uÂQu® £o¯õÍº CÇ¨¥mka \mhzvß 

G¢u åμzvÀ SÔ¨¤h¨£mkÒÍx? 

(A) åμzx-I    (B) åμzx-III  

(C) åμzx-II   (D) åμzx-IV  

11. How many workers must be in an establishment for the coverage of Payment of Gratuity 
Act? 

(A) 10   (B) 5  

(C) 15   (D) 20  

J¸ {ÖÁÚzvÀ GzuøÚ öuõÈ»õÍºPÒ £o¦›¢uõÀ A¢u {ÖÁÚzvØS £oUöPõøh \mh® 

ö£õ¸¢x®? 

(A) 10   (B) 5  

(C) 15   (D) 20  

12. As per Industrial Dispute Act under which section settlement arrived at in the course of 
conciliation? 

(A) Section 12(1)   (B) Section 12(3)  

(C) Section 18(1)   (D) Section 14  

öuõÈØuPμõÖ \mh¨£i G¢u \mh¨ ¤›Âß£i \©μ\ |hÁiUøP°ß ‰»® J¨£¢u® 

HØ£kzu¨£kQÓx? 

(A) ¤›Ä 12(1)   (B) ¤›Ä 12(3)  

(C) ¤›Ä 18(1)   (D) ¤›Ä 14  



 

097/DM/18 
   

6

13. At periodical intervals the dealer of petrol and diesel should check their delivery? 

(A) Once in week   (B) Daily  

(C) Once in year   (D) Every hour  

ö£m÷μõÀ j\À •PÁºPÒ GÆÁÍÄ Põ» CøhöÁÎ°À öh¼Á›ø¯ ÷\õuøÚ ö\´¯ ÷Ásk®?

(A) Áõμ® J¸•øÓ   (B) vÚ\›  

(C) Á¸h® J¸•øÓ   (D) ©oUS J¸•øÓ  

14. Which of the following is not the base unit of weight or measure? 

(A) Metre   (B) Kilogram  

(C) Feet   (D) Second  

RÌPshÁØÔÀ Gx Ai¨£øh A»S AÀ»? 

(A) «mhº   (B) Q÷»õQμõ®  

(C) Ai   (D) ö\Psk  

15. As per Manual Workers Act, child means a person who has not completed? 

(A) 16th year of age   (B) 18th year of age  

(C) 14th year of age   (D) 17th year of age  

Eh¾øÇ¨¦z öuõÈ»õÍºPÒ \mh¨£i GzuøÚ Á¯x •i¯õuÁºPÒ SÇ¢øu¯õP P¸u¨£k®? 

(A) 16&Áx Á¯x   (B) 18&Áx Á¯x  

(C) 14&Áx Á¯x   (D) 17&Áx Á¯x 

16. A package which is intended to retail sale for ultimate consume is called 

(A) Wholesale package   

(B) Retail package  

(C) Defective package   

(D) Multiple package  

CÖv¯õÚ ~Pº÷Áõ¸US ]À»øμ ÂØ£øÚ ö\´²® ÷|õUQ¯õÚ ö£õmh»zvÀ ö£¯º GßÚ? 

(A) ö©õzu ÂØ£øÚ ö£õmh»®  

(B) ]À»øμ ÂØ£øÚ ö£õmh»®  

(C) SøÓÄÒÍ ö£õmh»®   

(D) £ÀÁøP ö£õmh»®   
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17. The Plantation Labour Act applies to plantation having 

(A) 5 hectares or more  (B) 3 hectares or more  

(C) 10 hectares or more  (D) 20 hectares or more  

÷uõmhz öuõÈ»õÍºPÒ \mh® ö£õ¸¢xÁuØS GÆÁÍÄ ÂìwμÚ® C¸UP ÷Ásk®? 

(A) 5 öíU÷h¸US ÷©À  (B) 3 öíU÷h¸US ÷©À  

(C) 10 öíU÷h¸US ÷©À  (D) 20 öíU÷h¸US ÷©À  

18. How many workers of establishment must be member of the trade union while applying for 
registration? 

(A) 10% or 100 workers   (B) 10% or 50 workers  

(C) 5% or 100 workers  (D) 20% or 50 workers  

J¸ {ÖÁÚzvÀ GzuøÚ öuõÈ»õÍºPÒ öuõÈØ\[P £vÂØS Âsn¨¤UP»õ®? 

(A) 10% (A) 100 öuõÈ»õÍºPÒ (B) 10% (A) 50 öuõÈ»õÍºPÒ  

(C) 5% (A) 100 öuõÈ»õÍºPÒ (D) 20% (A) 50 öuõÈ»õÍºPÒ  

19. What is the minimum number of workers for the applicability of Bonus Act? 

(A) 20 or above   (B) 10 or above  

(C) 5 or above   (D) 50 or above  

÷£õÚì \mh¨£i SøÓ¢u£m\® GzuøÚ öuõÈ»õÍºPÒ £o¦›¯ ÷Ásk®? 

(A) 20&® AuØS ÷©¾®  (B) 10&® AuØS ÷©¾® 

(C) 5&® AuØS ÷©¾®  (D) 50&® AuØS ÷©¾®   

20. As per Motor Transport Workers Act the period between midnight of Saturday night and 
midnight of succeeding Saturday night is called 

(A) Day   (B) Week  

(C) Spread over   (D) Working hour  

÷©õmhõº ÷£õUSÁμzx öuõÈ»õÍºPÒ \mhzvÀ \ÛUQÇø© |ÒÎμÄ •uÀ öuõhº¢x Á¸® 

\ÛUQÇø© |ÒÎμÄ Áøμ°»õÚ Põ»zøu GßÚöÁßÖ AøÇUQ÷Óõ®? 

(A) |õÒ   (B) Áõμ®  

(C) ì¤μm KÁº   (D) ÷Áø» ÷|μ® 
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21. To which state the Payment of Gratuity Act will not apply partially? 

(A) Gujarat   (B) Assam  

(C) Karnataka   (D) Jammu and Kashmir  

G¢u ©õ{»zvØS £oUöPõøh \mhzvß ]» £SvPÒ ö£õ¸¢uõx? 

(A) Sáμõz   (B) Aìéõ®  

(C) Pº|õhPõ   (D) á®• ©ØÖ® Põè«º   

22. Under which section settlement arrived at between employer and worker only in the 
Industrial Dispute Act? 

(A) Section-13   (B) Section-12(1)  

(C) Section-18(1)   (D) Section-12(3)  

öuõÈØuPμõÖ \mhzvß G¢u \mh¨¤›Âß £i öuõÈ»õÎ •u»õÎUQøh÷¯ C¸uμ¨¦ J¨£¢u® 

HØ£kzu¨£kQÓx? 

(A) ¤›Ä-13   (B) ¤›Ä-12(1)  

(C) ¤›Ä-18(1)   (D) ¤›Ä -12(3)   

23. What is the maximum validity period for the licence of manufacture repairer and dealer of 
weight and measure? 

(A) 5 years   (B) 3 years  

(C) 1 year   (D) 10 years  

Gøh¯ÍÄPÒ u¯õ›¨£õÍº, £Êx£õº¨£Áº ©ØÖ® ÂØ£øÚ¯õÍº E›©® GÆÁÍÄ Põ»zvØS 

ö\À»zuUPx? 

(A) 5 BskPÒ   (B) 3 BskPÒ  

(C) 1 Bsk   (D) 10 BskPÒ   

24. Which Section Legal Metrology Act 2009 deals in the short delivery and short weight in act?

(A) Section-29   (B) Section-30  

(C) Section-33   (D) Section-34  

AÍÄ SøÓÁõP AÀ»x Gøh SøÓÁõP Â{÷¯õP® ö\´Áx £ØÔ 2009&® Bsk \mh•øÓ 

Gøh¯ÍÄPÒ \mhzvÀ G¢u ¤›ÂÀ ö\õÀ»¨£mkÒÍx? 

(A) ¤›Ä&29   (B) ¤›Ä&30  

(C) ¤›Ä&33   (D) ¤›Ä&34  
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25. As in Manual Workers Act the principal employer means an employ who engages manual 
work through a 

(A) Employer   (B) Employment office  

(C) Contractor   (D) Agent  

Eh¾øÇ¨¦z öuõÈ»õÍºPÒ \mh¨£i ¯õº ‰»©õP Eh¾øÇ¨¦z öuõÈ»õÍºPÒ £oUS 

A©ºzx£ÁºPøÍ •ußø© ÷Áø»¯Î¨£Áº GÚ AøÇUP¨£k®? 

(A) ÷Áø»¯Î¨£Áº   (B) ÷Áø»Áõ´¨¦ A¾Á»P®  

(C) J¨£¢uuõμº   (D) •PÁº   

26. Rule 6(1) of the packaged commodities rule deals with 

(A) Principal display panel  

(B) Imported package  

(C) Declaration to be made on the package    

(D) Wholesale package  

ö£õmh»¨ ö£õ¸mPÒ Âv 6(1)&À ö\õÀ»¨£mh \μzxPÒ GßÚ? 

(A) ¤›ß]£À iì¤÷Í ÷£ÚÀ  

(B) CÓUS©v ö£õmh»[PÒ  

(C) ö£õmh»zvß «uõÚ AÔÂ¨¦PÒ  

(D) ö©õzu ÂØ£øÚ ö£õmh»®   

27. The Plantation Labour Act applies to plantation employing workers 

(A) 5 or more   (B) 15 or more  

(C) 10 or more   (D) 20 or more  

J¸ ÷uõmh {ÖÁÚzvÀ GzuøÚ öuõÈ»õÍºPÒ £o¦›¢uõÀ ÷uõmhz öuõÈ»õÍºPÒ \mh® 

ö£õ¸¢x®? 

(A) 5&US ÷©À   (B) 15&US ÷©À  

(C) 10&US ÷©À   (D) 20&US ÷©À   

28. What is the minimum annual subscription by members of Trade Union for rural workers? 

(A) 10   (B) 5  

(C) 25   (D) 1  

Qμõ©¨¦Ó öuõÈ»õÍºPÐUPõÚ SøÓ¢u£m\ öuõÈØ\[P Bsk \¢uõ GÆÁÍÄ? 

(A) 10   (B) 5  

(C) 25   (D) 1  
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29. The Bonus Act applies to 

(A) Whole of Tamil Nadu and Kerala (B) Whole of Tamil Nadu  

(C) Whole of India   (D) Whole of Andhra State  

÷£õÚì \mh® RÌPshÁØÔÀ GÆÂh[PÐUS ö£õ¸¢x®? 

(A) uªÇP® ©ØÖ® ÷PμÍõ •ÊÁx® (B) uªÇPö©[S®  

(C) C¢v¯õ •ÊÁx®  (D) B¢vμ ©õ{»® •ÊÁx®  

30. How many worker must be working in a motor transport for the applicability of Motor 
transport work? 

(A) One   (B) Two  

(C) Four   (D) Five  

÷©õmhõº ÷£õUSÁμzx öuõÈ»õÍºPÒ \mh® GzuøÚ öuõÈ»õÍºPÒ £o¦›²® {ÖÁÚzvØS 

ö£õ¸¢x®? 

(A) JßÖ   (B) Cμsk  

(C) |õßS   (D) I¢x  

31. “Serious bodily injury” means 

(A) permanent loss   (B) fracture of bone  

(C) temporary loss   (D) head injury  

‘‘wÂμ EhÀ Põ¯®’’ Gß£x 

(A) {μ¢uμ FÚ®   (B) G¾®¦ •ÔÄ  

(C) uØPõ¼P FÚ®   (D) uø»U Põ¯® 

32. Under Employees Compensation Act, which section shall be applicable to the employer to 
deposit the compensation amount for fatal accident before the authority? 

(A) Section 8(1)   (B) Section 7  

(C) Section 8(2)   (D) Section 9 

£o¯õÍº CÇ¨¥mka \mhzvß£i ÷Áø»¯Î¨£Áº ©μn Â£zxUSÒÍõÚ öuõÈ»õÎUPõP 

CÇ¨¥mkz öuõøPø¯ £o¯õÍº CÇ¨¥mk Bøn¯º •ß¦ øÁ¨¥k ö\´Áx SÔzx 

öu›ÂUS® ¤›Ä 

(A) ¤›Ä 8(1)   (B) ¤›Ä 7  

(C) ¤›Ä 8(2)   (D) ¤›Ä 9 
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33. The age factor for working out the compensation amount falls under 

(A) Schedule-I   (B) Schedule-III  

(C) Schedule-II   (D) Schedule-IV  

¤ßÁ¸ÁÚÁØÔÀ, £o¯õÍº CÇ¨¥mka \mhzvÀ Á¯xUPõÚ Põμo SÔ¨¤h¨£mkÒÍ åμzx 

Gx? 

(A) åμzx-I   (B) åμzx-III  

(C) åμzx-II   (D) åμzx-IV  

34. Report of Fatal Accidents should be submitted through 

(A) Form-A   (B) Form-B  

(C) Form-EE   (D) Form-L 

÷Áø»¯Î¨£Áº CÓ¨¦ Â£zx AÔUøPø¯ ¤ßÁ¸® G¢u £iÁzvß ‰»® £o¯õÍº CÇ¨¥mk 

Bøn¯º •ß¦ \©º¨¤UP ÷Ásk®? 

(A) £iÁ®&H   (B) £iÁ®&¤  

(C) £iÁ®&EE   (D) £iÁ®&GÀ  

35. Who will be responsible to pay compensation under the Section 12(2) of Employees 
Compensation Act? 

(A) Principal Employer  (B) Contractor  

(C) Sub-Contractor   (D) Principle Contractor 

£o¯õÍº CÇ¨¥mka \mh® ¤›Ä 12(2)&ß £i £õvUP¨£mh öuõÈ»õÎUS ¯õº CÇ¨¥k ÁÇ[P 

Phø©¨£mhÁμõQÓõº? 

(A) •ußø© ÷Áø»¯Î¨£Áº (B) J¨£¢uPõμº 

(C) xøn&J¨£¢uPõμº  (D) •ußø© J¨£¢uuõμº 

36. As per packaged commodity rules no declaration as to the month and year of pack is 
necessary for the following items? 

(A) Wholesale package  (B) Retail package  

(C) Domestic gas cylinder  (D) Rice  

ö£õmh»¨ ö£õ¸mPÒ Âv¨£i RÌPsh G¢u ö£õ¸ÐUS ÷£U ö\´u ©õu® Á¸h® SÔ¨¤hz 

÷uøÁ°Àø»? 

(A) ö©õzu ÂØ£øÚ ö£õmh»® (B) ]À»øμ ÂØ£øÚ ö£õmh»®  

(C) \ø©¯À G›Áõ² ]¼shº (D) A›]  
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37. The Plantation Labour Act not applies to planters growing  
(A) Tea   (B) Coffee  
(C) Rubber   (D) Coconut  
RÌPshÁØÔÀ G¢u ÷uõmhzvØS ÷uõmhz öuõÈ»õÍºPÒ \mh® ö£õ¸¢uõx? 

(A) ÷u°ø»   (B) Põ¤  

(C) μ¨£º   (D) ÷u[Põ´   

38. What is the minimum annual subscription by member of Trade Union for worker in 
unorganized sector? 
(A) Rs. 10   (B) Rs. 20  
(C) Rs. 3   (D) Rs. 5  
Aø©¨¦ \õμõ ¤›Ä öuõÈ»õÍºPÐUPõÚ SøÓ¢u£m\ öuõÈØ\[P Bsk \¢uõ GÆÁÍÄ? 

(A) ¹. 10   (B) ¹. 20  

(C) ¹. 3   (D) ¹. 5  

39. How many days a worker must have worked in the establishment in the accounting year to 
get bonus? 
(A) 30 days   (B) 60 days  
(C) 90 days   (D) 120 days  
J¸ öuõÈ»õÎ ÷£õÚì ö£ÖÁuØS J¸ PnUS BsiÀ J¸ {ÖÁÚzvÀ SøÓ¢ux GzuøÚ 

|õmPÒ £o¦›¢v¸UP ÷Ásk®? 

(A) 30 |õmPÒ   (B) 60 |õmPÒ  

(C) 90 |õmPÒ   (D) 120 |õmPÒ 

40. To provide canteen facilities how many workers must be working in a Motor Transport? 
(A) 250   (B) 10  
(C) 50   (D) 100  
÷©õmhõº ÷£õUSÁμzx öuõÈ»õÍºPÒ \mh¨£i GzuøÚ öuõÈ»õÍºPÒ £o¦›¢uõÀ EnÁP® 

Á\v ö\´x öPõkUP¨£h ÷Ásk®? 

(A) 250   (B) 10  
(C) 50   (D) 100  

41. With how many days after relieved from service gratuity should be paid? 
(A) 30 days   (B) 45 days  
(C) 15 days   (D) Immediately  
£o°¼¸¢x ÂkÂUP¨£mh GzuøÚ |õmPÐUSÒ £oUöPõøh ÁÇ[P¨£h ÷Ásk®? 

(A) 30 |õmPÒ   (B) 45 |õmPÒ  

(C) 15 |õmPÒ   (D) Eh÷Ú  



 

   097/DM/18 
  [Turn over 

13

42. What is the period of operation of Award in the I.D. Act? 
(A) One year   (B) Two years  
(C) Three years   (D) Five years  
öuõÈØuPμõÖ \mhzvÀ AÁõºk |øh•øÓ°À C¸US® Põ»® GÆÁÍÄ? 

(A) J¸ Á¸h®   (B) Cμsk Á¸h[PÒ  

(C) ‰ßÖ Á¸h[PÒ   (D) I¢x Á¸h[PÒ   

43. When a stamped weight or measure in dismantled and re-installed at a different place 
before using that weight or measure the trader should do what? 
(A) Report to the legal metrology officer  
(B) Re-stamp it  
(C) Need not Re-stamp it   
(D) Report to Controller of legal metrology  
•zvøμ°h¨£mh Gøh¯ÍÂøÚ ¤›zx ©ØöÓõ¸ ChzvÀ øÁzx ÷\ºUS® ö£õÊx A¢u 

Gøh¯ÍÂøÚ ÁoPº £¯ß£kzx® •ß ö\´¯ ÷Ási¯x GßÚ? 

(A) \mh•øÓ Gøh¯ÍÄPÒ A¾Á»¸US öu›ÂUP ÷Ásk® 

(B) ©Ö •zvøμ°mkU öPõÒÍ ÷Ásk®  

(C) ©Ö •zvøμ°hz ÷uøÁ°Àø» 

(D) \mh•øÓ Gøh¯ÍÄPÒ Pmk¨£õmk AvPõ›US öu›ÂUP ÷Ásk® 

44. Which section of Legal Metrology Act 2009 deals with penalty for import of non standard 
weight or measure? 
(A) Section 39   (B) Section 40  
(C) Section 33   (D) Section 23  
uμ¨£kzu¨£hõu Gøh¯ÍÄPøÍ CÓUS©v ö\´ÁuØPõÚ ushøÚ ÂÁμ® 2009&® \mh•øÓ 

Gøh¯ÍÄPÒ \mhzvß G¢u ¤›ÂÀ ö\õÀ»¨£mkÒÍx? 

(A) ¤›Ä 39   (B) ¤›Ä 40  

(C) ¤›Ä 33   (D) ¤›Ä 23  

45. What is meant “Scheme” under Manual Workers Act? 
(A) Scheme formulated by Board 
(B) Scheme formulated by Govt.  
(C) Scheme made under this Act 
(D) Scheme formulated by Commissioner of Labour  
‘‘vmh®’’ Gß£uß ö£õ¸øÍ Eh¾øÇ¨¦z öuõÈ»õÍº \mh¨£i ÂÍUSP. 

(A) Áõ›¯zuõÀ E¸ÁõUP¨£mh ‘‘vmh®’’ 

(B) ‘‘Aμ\õÀ’’ E¸ÁõUP¨£mh ‘‘vmh®’’ 

(C) \mh¨£i E¸ÁõUP¨£mh ‘‘vmh®’’ 

(D) öuõÈ»õÍº Bøn¯õÍμõÀ E¸ÁõUP¨£mh ‘‘vmh®’’  
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46. All the retailers dealing in the packaged commodity should maintain the following for the 

benefit of customers 

(A) Beam scale   (B) Electronic Balance  

(C) Weigh Bridge   (D) Spring Balance  

ö£õmh»¨ ö£õ¸mPÒ ÂØ£øÚ ö\´²® AøÚzx ]À»øμ ÂØ£øÚ¯õÒPÒ ~Pº÷Áõº |»ÝUPõP 

Gøu øÁzv¸UP ÷Ásk®? 

(A) Ámhz uμõ_   (B) ªßÚq uμõ_  

(C) Gøh¨ £õ»®   (D) ÂÀ uμõ_ 

47. In Plantation Labour Act the term adolescent means person also in the age group 

(A) 14–18 years   (B) 10–14 years  

(C) 15–20 years   (D) 18–20 years  

÷uõmhz öuõÈ»õÍºPÒ \mhzvÀ adolescent öuõÈ»õÎUPõÚ Á¯x GßÚ? 

(A) 14–18 Á¯x   (B) 10–14 Á¯x  

(C) 15–20 Á¯x   (D) 18–20 Á¯x  

48. What is the duration of elected office bearers and executive members of the Trade Union? 

(A) 5 years   (B) 3 years  

(C) 7 years   (D) 10 years  

öuõÈØ\[PzvÀ ÷uº¢öukUP¨£mh A¾Á»P {ºÁõQPÐUS® ö\¯À EÖ¨¤ÚºPÐUS©õÚ 

£uÂU Põ»® GÆÁÍÄ? 

(A) 5 BskPÒ   (B) 3 BskPÒ  

(C) 7 BskPÒ   (D) 10 BskPÒ   

49. On what ground a worker is disqualified for Bonus? 

(A) Long leave   (B) Suspension  

(C) Dismissal on fraud  (D) Short term leave  

J¸ öuõÈ»õÎ ÷£õÚì ö£Ö® uSvø¯ G¨ö£õÊx CÇUQÓõº? 

(A) }sh Âk¨¦   (B) uØPõ¼P £o}UP®  

(C) •øÓ÷PmiÚõÀ £o }UP® (D) SÖQ¯ Põ» Âk¨¦  
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50. In a Motor Transport undertaking if the workers work at night time the employer should 
provide the following facility 
(A) Rest room   (B) Canteen  

(C) Latrine   (D) Medical facilities  
÷©õmhõº ÷£õUSÁμzx öuõÈ»õÎ £o°ß ÷£õx CμÂÀ u[P ÷Ási°¸US® {ÖÁÚ[PÎÀ 

÷Áø»¯Î¨£Áº GßÚ Á\v ö\´x öPõkUP ÷Ásk®? 

(A) K´Ä AøÓ   (B) EnÁP® 

(C) PÈÁøÓ   (D) ©¸zxÁ Á\v  

51. How many days salary should be given as gratuity for every completed year of service? 
(A) 20 days salary   (B) 30 days salary  
(C) 15 days salary   (D) 10 days salary  
öuõÈ»õÎ°ß £oUS Á¸hzvØS GzuøÚ |õmPÒ \®£Í® £oUöPõøh¯õP ÁÇ[P¨£h 

÷Ásk®? 

(A) 20 |õmPÒ \®£Í®  (B) 30 |õmPÒ \®£Í®  

(C) 15 |õmPÒ \®£Í®  (D) 10 |õmPÒ \®£Í®  

52. When the strike notice to be given in the Industrial Dispute Act? 

(A) Before six weeks  (B) Before 14 days  
(C) Before one month  (D) Before 3 months  
öuõÈØuPμõÖ \mh¨£i ÷Áø»{Özu AÔÂ¨¦ G¨ö£õÊx öPõkUP¨£h ÷Ásk®? 

(A) BÖ Áõμ[PÐUS •ß  (B) 14 |õmPÐUS •ß  

(C) J¸ ©õuzvØS •ß  (D) ‰ßÖ ©õu[PÐUS •ß  

53. What is the weight used for the weighment of precious stones? 
(A) Bullion weight   (B) Carrot weight  
(C) Brass weight   (D) Cost iron weight  
Âø» E¯º¢u PØPøÍ Gøh ÷£õh £¯ß£kzu¨£k® GøhPØPÒ Gx? 

(A) ¦À¼¯ß GøhUPØPÒ  (B) Põμm GøhUPØPÒ  

(C) ¤zuøÍ GøhUPØPÒ  (D) C¸®¦ GøhUPØPÒ 

54. Every employer shall issue a service book to every motor transport worker immediately on 
the date of his entry in to service 

(A) Form XI   (B) Form XIII 
(C) Form XIX   (D) Form XX  
÷©õmhõº ÷£õUSÁμzx {ÖÁÚzvÀ £o¦›²® öuõÈ»õÎUS AÁº £o°À ÷\º¢u |õÍßÖ £o 

¦zuP® G¢u £iÁzvÀ ÁÇ[P¨£h ÷Ásk®? 

(A) £iÁ® XI   (B) £iÁ® XIII  

(C) £iÁ® XIX   (D) £iÁ® XX  
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55. Which section of the Manual Worker Act deals with penalty provision? 

(A) Section 17   (B) Section 30  

(C) Section 31   (D) Section 29  

Eh¾øÇ¨¦z öuõÈ»õÍºPÒ \mhzvß G¢u ¤›ÂÀ ushøÚ ÂÁμ® SÔ¨¤h¨£mkÒÍx? 

(A) ¤›Ä&17   (B) ¤›Ä&30  

(C) ¤›Ä&31   (D) ¤›Ä&29 

56. Week defined under Tamil Nadu Shops and Establishments Act means period of seven days 
beginning at 

(A) Midnight of Sunday  (B) Midnight of Saturday  

(C) Midnight of Monday  (D) Midnight of Friday  

uªÌ|õk PøhPÒ {ÖÁÚa \mhzvß £i J¸ Áõμ |õmPÒ Bμ®¤¨£x 

(A) bõ°Ö |ÒÎμÄ   (B) \Û |ÒÎμÄ  

(C) v[PÒ |ÒÎμÄ   (D) öÁÒÎ |ÒÎμÄ  

57. As per Tamil Nadu Shops and Establishments Act, which of the following does not comes 
under “establishment”? 

(A) A shop   (B) Residential hotel  

(C) Restaurant   (D) House  

uªÌ|õk PøhPÒ {ÖÁÚa \mhzvß£i {ÖÁÚ® Gß£x RÌUPshÁØÖÒ G¢uöÁõßÖ 

{ÖÁÚzxhß Áμõux? 

(A) Pøh   (B) EnÄ Âkv  

(C) EnÁP®   (D) Ãk 

58. According to Tamil Nadu Shops and Establishments Act, young person means 

(A) a person who is not a child and has not completed Seventeen years 

(B) a person who is not a child and has not completed Fourteen years  

(C) a person who is not a child and has not completed Sixteen years 

(D) a person who is not a child and has not completed Fifteen years  

uªÌ|õk PøhPÒ ©ØÖ® {ÖÁÚ[PÒ \mhzvß£i CøÍbß Gß£Áº 

(A) 17 Á¯x §ºzv¯øh¯õuÁº  

(B) 14 Á¯x §ºzv¯øh¯õuÁº  

(C) 16 Á¯x §ºzv¯øh¯õuÁº  

(D) 15 Á¯x §ºzv¯øh¯õuÁº  
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59. Which one of the following is not correct? 

(A) Deduction of fine can be made from wages 

(B) All payments of wage shall be made on a working day  

(C) No wage period shall exceed one month 

(D) Wage period shall exceed two months  

CÁØÖÒ Gx uÁÓõÚx? 

(A) \®£ÍzvÀ A£μõuzøu ¤iUP»õ® 

(B) ÷Áø» |õmPÎÀ \®£Í £mkÁõhõ ö\´¯ ÷Ásk®  

(C) ©õu® J¸ •øÓ \®£Í® ÁÇ[P ÷Ásk® 

(D) Cμsk ©õuzvØS J¸ •øÓ \®£Í® ÁÇ[P»õ®  

60. As per Tamil Nadu Shops and Establishments Act, which one of the following is correctly 

matched? 

(A) Fixation of wage period  – Section 31 

(B) Wage for overtime work – Section 30(1) 

(C) Appointment of inspectors – Section 44 

(D) Powers of duties of inspectors – Section 43  

uªÌ|õk PøhPÒ {ÖÁÚa \mhzvß£i RÌPshÁØÔÀ Gx \›¯õP ö£õ¸¢xQÓx? 

(A) Fv¯ Põ»zøu {ºn°zuÀ – ¤›Ä 31 

(B) AvP÷|μ ÷Áø»UPõÚ \®£Í® – ¤›Ä 30(1) 

(C) B´ÁõÍºPÎß {¯©Ú® – ¤›Ä 44 

(D) B´ÁõÍºPÎß Phø© ©ØÖ® ö£õÖ¨¦PÒ – ¤›Ä 43 

61. For seasonal workers how many days salary per seasons should be given as gratuity? 

(A) 30 days salary   (B) 7 days salary  

(C) 15 days salary   (D) 10 days salary  

£¸ÁPõ» öuõÈ»õÍºPÐUS J¸ £¸ÁzvØS GzuøÚ |õmPÒ \®£Í® £oUöPõøh¯õP ÁÇ[P 

÷Ásk®? 

(A) 30 |õmPÒ \®£Í®  (B) 7 |õmPÒ \®£Í® 

(C) 15 |õmPÒ \®£Í®  (D) 10 |õmPÒ \®£Í® 
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62. In chapter V(B) of Industrial Dispute Act, how many days advance notice to be given for 
close down any undertaking? 

(A) 30 days   (B) 45 days  

(C) 60 days   (D) 90 days  

öuõÈØuPμõÖPÒ \mh® AvPõμ® V(B)&ß £i J¸ {ÖÁÚzøu ‰h Ez÷u]UP¨£mkÒÍuØPõÚ 

AÔÂ¨¦ GzuøÚ |õmPÐUS •ßÚº öPõkUP ÷Ásk®? 

(A) 30 |õmPÒ   (B) 45 |õmPÒ  

(C) 60 |õmPÒ   (D) 90 |õmPÒ  

63. Working standards shall be kept in the custody of 

(A) Legal Metrology Officer  

(B) Controller of Legal Metrology  

(C) Deputy Controller of Legal Metrology  

(D) Addl. Controller of Metrology of Legal Metrology  

ö\¯À•øÓ Gøh¯ÍÄPÒ ¯õ¸øh¯ ö£õÖ¨¤À C¸US®? 

(A) \mh•øÓ Gøh¯ÍÄ A¾Á»º 

(B) \mh•øÓ Gøh¯ÍÄPÒ Pmk¨£õmk A¾Á»º  

(C) \mh•øÓ Gøh¯ÍÄPÒ xøn Pmk¨£õmk A¾Á»º 

(D) \mh•øÓ Gøh¯ÍÄPÒ TkuÀ Pmk¨£õmk A¾Á»º  

64. Which section of the Legal Metrology Act 2009 deals with penalty for tampering with 
licence? 

(A) Section 46   (B) Section 43  

(C) Section 42   (D) Section 47  

\mh•øÓ Gøh¯ÍÄPÒ \mhzvß G¢u ¤›ÂÀ E›©zøu v¸zxuÀ £ØÔ ö\õÀ»¨£mkÒÍx? 

(A) ¤›Ä&46   (B) ¤›Ä&43  

(C) ¤›Ä&42   (D) ¤›Ä&47   

65. How many employment is included in the schedule of the Manual Workers Act? 

(A) 68   (B) 64  

(C) 62   (D) 63  

Eh¾øÇ¨¦z öuõÈ»õÍºPÒ \mh AmhÁøn°À GzuøÚ¨ £oPÒ £mi¯¼h¨£mkÒÍx? 

(A) 68   (B) 64  

(C) 62   (D) 63  
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66. Which rule of package commodity rule says that weighting facilities should be provided for 

consumers? 

(A) 23A   (B) 23  

(C) 24A   (D) 25  

~Pº÷Áõº ö£õmh»¨ ö£õ¸mPÎß Gøhø¯ ÷\ºzx £oUP Á\v ö\´x öPõkUP ÷Ásk® GÚ 

ö£õmh»¨ ö£õ¸mPÎß G¢u Âv°À ö\õÀ»¨£mkÒÍx? 

(A) 23A   (B) 23  

(C) 24A   (D) 25  

67. To maintain the crèches how many worker should work in a plantation? 

(A) 50 or more   (B) 100 or more  

(C) 10 or more   (D) 25 or more  

SÇ¢øuPÒ Põ¨£P® £μõ©›UP GzuøÚz öuõÈ»õÍºPÒ ÷uõmh {ÖÁÚzvÀ £o¦›¯ ÷Ásk®?

(A) 50&US ÷©À   (B) 100&US ÷©À  

(C) 10&US ÷©À   (D) 25&US ÷©À 

68. In a Trade Union what is the proportion of the office bearers to be connected with the 

industry? 

(A) 25%   (B) 50%  

(C) 75%   (D) 10%  

J¸ öuõÈØ\[Pzvß A¾Á»P {ºÁõQPÎÀ GzuøÚ \uÂQuzvß \®£¢u¨£mh öuõÈÀ 

ö\´£ÁºPÍõP C¸UP ÷Ásk®? 

(A) 25%   (B) 50%  

(C) 75%   (D) 10%  

69. What is the maximum percentage of Bonus? 

(A) 15%   (B) 8.33%  

(C) 20%   (D) 10%  

÷£õÚì Ea\Áμ®¦ GÆÁÍÄ? 

(A) 15%   (B) 8.33%  

(C) 20%   (D) 10%  
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70. What is the normal weekly working hours of the adult motor transport worker? 

(A) 40 hours   (B) 46 hours  

(C) 48 hours   (D) 54 hours  

J¸ ÷©õmhõº ÷£õUSÁμzx öuõÈ»õÎ°ß \õuõμn Áõμõ¢vμ ÷Áø» ÷|μ® GÆÁÍÄ? 

(A) 40 ©o   (B) 46 ©o  

(C) 48 ©o   (D) 54 ©o  

71. What is the maximum amount of gratuity payable? 

(A) 3.5 lakhs   (B) 15 lakhs  

(C) 7 lakhs   (D) 10 lakhs  

£oUöPõøh Ea\Áμ®¦ öuõøP GÆÁÍÄ? 

(A) 3.5 »m\[PÒ   (B) 15 »m\[PÒ  

(C) 7 »m\[PÒ   (D) 10 »m\[PÒ  

72. Which section of the ID Act deals with compensation to workmen in case of closing down of 
undertaking? 

(A) Section 12(3)   (B) Section 25 FFF  

(C) Section 18(1)   (D) Section 25(0)  

‰h¨£mh {ÖÁÚzvß öuõÈ»õÍºPÐUS ÁÇ[P¨£h ÷Ási CÇ¨¥mkz öuõøP £ØÔ 

öuõÈØuPμõÖ \mhzvß G¢u ¤›ÂÀ ö\õÀ»¨£mkÒÍx? 

(A) ¤›Ä 12(3)   (B) ¤›Ä 25 FFF  

(C) ¤›Ä 18(1)   (D) ¤›Ä 25(0)  

73. What is the weight used for the weighment of pearls? 

(A) Carrot weight    

(B) Bullion weight  

(C) Cost iron weight    

(D) Brass weight  

•zx {Özu £¯ß£kzu¨£k® GøhUPØPÒ Gx? 

(A) Põμm PØPÒ    

(B) ¦À¼¯ß GøhUPØPÒ  

(C) C¸®¦ GøhUPØPÒ   

(D) ¤zuøÍ GøhUPØPÒ 
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74. Which section of the Legal Metrology Act 2009 deals with penalty for manufacture or sale of 
non standard weight or measure? 

(A) Section-26   (B) Section-27  

(C) Section-44   (D) Section-45  

\mh•øÓ Gøh¯ÍÄPÒ \mhzvß G¢u ¤›ÂÀ uμ©ØÓ Gøh¯ÍÄPÒ £Êx£õºzuÀ £ØÔ 

ö\õÀ»¨£mkÒÍx? 

(A) ¤›Ä&26   (B) ¤›Ä&27  

(C) ¤›Ä&46   (D) ¤›Ä&45  

75. What is the percentage of contribution of every person who undergoes construction work? 

(A) Not exceeding 5%  (B) Not exceeding 1%  

(C) Not exceeding 0.5%  (D) Not exceeding 0.3%  

Pmk©õÚ¨ £o ÷©ØöPõÒ£ÁºPÎß Eh¾øÇ¨¦z öuõÈ»õÍºPÒ |» {v¯õP GzuøÚ \uÂQu® 

ö\¾zu ÷Ásk®? 

(A) 5%&US ªPõ©À   (B) 1%&US ªPõ©À   

(C) 0.5%&US ªPõ©À   (D) 0.3%&US ªPõ©À  

76. Chapter VIII of the Tamil Nadu Shops and Establishment Act deals with 

(A) Holidays with wages 

(B) Penalties for offences  

(C) Appointment, power and duties of inspectors 

(D) Health and safety  

uªÌ|õk PøhPÒ {ÖÁÚa \mh® – Azv¯õ¯®&VIII CÁØÖÒ Gøu øP¯õÒQÓx? 

(A) \®£Ízxhß Ti¯ Âk•øÓ 

(B) B´ÁõÍºPÎß {¯©Ú® AvPõμ® ©ØÖ® ö£õÖ¨¦PÒ  

(C) SØÓ[PÐUS ushøÚ 

(D) _Põuõμ® ©ØÖ® £õxPõ¨¦  

77. Tamil Nadu Shops and Establishments Act was enacted in the year 

(A) 1943   (B) 1947  

(C) 1945   (D) 1946  

uªÌ|õk PøhPÒ ©ØÖ® {ÖÁÚ[PÒ \mh® C¯ØÓ¨£mh Bsk 

(A) 1943   (B) 1947  

(C) 1945   (D) 1946  
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78. As per Tamil Nadu Shops and Establishments Act, Register of Wages 

(A) Form-R   (B) Form-T  

(C) Form-Q   (D) Form-S  

uªÌ|õk PøhPÒ ©ØÖ® {ÖÁÚ[PÒ \mhzvß £i \®£Í¨ £v÷Ák G¢u £iÁzvÀ 

£μõ©›UP¨£h ÷Ásk®? 

(A) £iÁ®-R   (B) £iÁ®-T  

(C) £iÁ®-Q   (D) £iÁ®-S  

79. Who is the appellate authority under Tamil Nadu Shops and Establishments Act? 

(A) Deputy Commissioner of Labour  

(B) The Commissioner of Labour  

(C) High Court    

(D) Joint Commissioner of Labour  

uªÌ|õk PøhPÒ ©ØÖ® {ÖÁÚ[PÒ \mhzvß RÌ ÷©À•øÓ±mk AvPõ› 

(A) öuõÈ»õÍº xøn Bøn¯º  

(B) öuõÈ»õÍº Bøn¯º  

(C) E¯º}v©ßÓ®    

(D) öuõÈ»õÍº Cøn Bøn¯º   

80. Tamil Nadu Shops and Establishments Act, Section 15 provides 

(A) Spread over of period of work 

(B) Manner of examination of premises by the inspector  

(C) Maintenance of registers and records    

(D) Weekly holidays  

uªÌ|õk PøhPÒ ©ØÖ® {ÖÁÚ[PÒ \mh® ¤›Ä 15&À öu›Â¨£x 

(A) £o ÷|μzøu £μÁ»õUSÁx 

(B) {ºÁõPzvøÚ B´Ä ö\´²® Âu®  

(C) £v÷ÁkPÒ ©ØÖ® BÁn[PÒ £μõ©›zuÀ 

(D) Áõμõ¢vμ Âk•øÓ  

––––––––––––––––– 
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ROUGH WORK 
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ROUGH WORK 


